SP Series

Speed Controllers

Features

- Speed control valve with built in one touch fitting
- Easy to control the speed by finely adjusting the flow
- Superior corrosion resistance with nickel plated surface

SP2201F-02-08 S D-W

18] e -

V-SEAL (NBR)
___BACK RING (POM)
LOCK CLAW (SUS)
COLLAR (BRASS)
RELEASE SLEEVE (POM)

1] Body size (5] Thread BODY (BRASS) t Tuse
;:g?/s 1/4 M5 M5 x 0.8 '
: , 01:R1/8
3:R3/8 02:R1/4 O-RING (NBR)
4:R1/2 03:R3/8
04:R1/2 O-RING (NBR)
Type case eB)
0: Uni ; ; O-RING (NER)
5. Elrt‘)'g\r,\‘/ [6] Applicable tubing O.D. NEEDLE (BRASS)
3 : Universal 04 04 {-PACKING (NER)
o -
Control type 0. 010 NEEDLE HOLE (8RASS)
0 : Meter-Out 12 . 12
1: Meter-In '

Thread seal method
S : Sealant

% Please contact us for thread
sealant method for M5

[4] Built-in one touch fitting

Flat-blade screw

Blank : Standard
D : Driver

Specifications

Fluid Air Be sure to have afull understanding beforeuse and refer to
Operating pressure range 0~150psi (0~9.9kgf/cm2) safety cautions andcommon cautions
Fluid temperature 0~60°C
Applicable tube Polyurethane tube, Nylon tube

29



SP Series

SP Flow Graph

control flow
160
SP 03—M5 <= 140 8
= /
04-M5 £ 120 )
06_M5 L g0 // ——1°
S 60 va 8
=
5 40 == 1
" me—
0 1 > 3 4 5 6 7 8
needle turn
control flow
400 8
SP 04-01 < 350 e
06-01 £ 300 Vi
08-01 T 500 y
S 150 //f/,/ 3
S 100 =
— "] et
50
o 1 2 3 4 5 6 7 8 9 10
needle turn
control flow
800 5
SP 04-02 = 700 17
= 500 / =
08—-02 % 400 ////,
10-02 £ 300 4/ 3
2 200 2
12-02 = {5 —— 1
0 1 2 3 4 5 6 7 8 9 10 11 12
needle turn
control flow
18
SP 06—03 = 1400 T
08-03 £ 1200 A7
= 1000 /
10-03 3 =T °
2 800 /7
_ © /// 3
12—03 £ 600 =
2 400 =
= 200 e —— 1
0123 456 7 8 9101112131415
needle turn
control flow
SP08—04 £ 8
— "C_‘ /
10-04 £ 1500 //;
2 %00 Eﬁ”/’/’1

0 1 2 3 4 65 6 7
t

8 9 10 11 12 18
needle turn

ur

30

pressure (bar) pressure (bar) pressure (bar) pressure (bar)

pressure(bar)

free flow
E150
e L1
100 — —
©
0 2 3 4 5 6 7 8
pressure (bar)
free flow
500
g 400 //
=300 ] —
© // 06-01
© 200 S
s L~ 04-01
3100 e
0 2 3 4 5 6 7 8
pressure (bar)
free flow
1000
= 800 -
IS =
= 600 e
et _—
©
= 400 1" od-02,04}-02
S 20—
0 2 3 4 5 6 7 8
pressure(bar)
free flow
= 1400 /’
£ 1200 =
]
= 1000 —
© 800 —
S 600 /,/
g 400 —r
= 200
0 1 2 3 4 5 6 7 8
pressure(bar)
free flow
5 _—
£ 2000 —
= 1500 ——
2 L
© 1000 —
= L
3 500 —
0 1 2 3 4 5 6 7 8

pressure (bar)



Speed Controllers SP Series

Sp W d

H

MEeTRIC-BSPT(R) Unit : mm %(gt B -
MODEL (Tutglgize) (Tub(;r Size) a8 MIN 1 MAX E i . (Hl;ix.) We(lgl?l‘]t P

SP1201F-M5-04 M5%0.8 27.1 29.1 25.4 3.6 8 9.0 T

SP2201F-01-04S 4 R1/8 10.5 .9 40.7 30.5 8.2 14.9 1 20.0

SP2201F-02-04S R1/4 40.3 46.6 34.5 11.0 15 36.0

SP1201F-M5-06 M5x0.8 27.1 29.1 27.8 3.6 8 10.0

SP2201F-01-065 R1/8 36.5 40.7 31.3 8.2 1 21.0

SP2201F-02-06S 6 R 1/4 12.5 40.3 46.6 35.3 11.0 16.4 15 37.0

SP3201F-03-06S R 3/8 46.9 54.9 38.8 12.2 19 70.0

SP4201F-04-065 R1/2 54.0 60.1 44.9 16.5 24 108.0

SP2201F-01-08S R1/8 35.5 40.7 33.4 8.2 11 22.0

SP2201F-02-08S 8 R 1/4 145 40.3 46.6 37.4 11.0 18.7 15 38.0

SP3201F-03-08S R 3/8 ' 46.9 54.9 40.4 12.2 ’ 19 71.0

SP4201F-04-08S R1/2 54.0 60.1 46.3 16.5 24 109.0

SP2201F-02-108 R1/4 40.3 46.6 38.8 11.0 15 42.0

SP3201F-03-10S 10 R 3/8 17.5 46.9 54.9 421 12.2 20.1 19 73.0

SP4201F-04-10S R1/2 54.0 60.1 47.3 16.5 24 110.0

SP3201F-03-125 10 R 3/8 205 46.9 54.9 45.2 12.2 23 19 75.0

SP4201F-04-12S R1/2 54.0 60.1 50.1 16.5 24 113.0
Universal type

METR'C'BSPT(R) Unit : mm - Tl‘l ‘ lF

g < i 3

(Tu!glgize) o (Tub;.r Size) b B B (H':x.) c W?gl)ght lZJ.LEi R

SP1301F-M5-04S M5x0.8 9.6 271 123 52 3.6 8 203 92

SP2301F-01-04S 4 10.5 R1/8 15.1 3.5 143 7.0 82 148 15 20.3 36.1

SP2301F-02-04S R1/4 18.4 403 178 9.2 11.0 15 203 36.1

SP1301F-M5-065 M5X0.8 9.6 271 1383 52 36 8 224 102

SP2301F-01-06S 6 125 R1/8 15.6 355 150 7.0 8.2 16.4 1 240 2141

SP2301F-02-06S R1/4 18.4 403 203 9.2 11.0 15 259 387

SP3301F-03-065 R 3/8 21.9 46.9 233 11.5 122 19 2569 702

SP2301F-01-08S R1/8 15.6 355 162 7.0 8.2 11 249 221

SP2301F-02-08S 8 148 R1/4 18.4 403 193 9.2 11.0 18.3 15 283 39.8

SP3301F-03-08S i R 3/8 22.4 469 246 115 122 19 293 714

SP4301F-04-085 R1/2 26.6 540 26.6 143 16.5 24 29.3 110.0

SP2301F-02-10S R1/4 18.4 403 203 9.2 11.0 15 30.7 422

SP3301F-03-10S 10 175 R3/8 22.4 46.9 246 11.5 122 20.2 19 31.7 735

SP4301F-04-108 R1/2 26.7 54.0 26.7 143 16.5 24 331 112.5

SP2301F-02-10S R 1/4 18.4 403 218 9.2 11.0 15 334 441

SP3301IF-03-128 12 205 R3/8 22.4 469 246 115 122 229 19 344 79.0

SP4301F-04-12S R1/2 26.7 54.0 26.7 143 16.5 24 358 115.9

31



SP Series

P-D ‘t-‘ :

Flat- t|p screwdriver control type

MeTRIC-BSPT(R) Unit : mm f
: il
AOEEL (Tutg[s)ize) (Tub;r Size) (ngx.) W?gl?ht 1 y<y

SPI20IF-M5-03D 3 78 M5x0.8 96 232 165 50 36 113 8 6.0
SP1210F-M5-043D M5x0.8 103 232 202 50 36 148 8 7.0
SPOTF-01-045D 4 105 R1/8 151 315 233 7.0 82 153 11 160
SP2201F~02-043D R1/4 184 370 253 90 110 153 15 350
SP1201F-M5-063D M5x0.8 11.4 232 227 50 36 164 8 9.0
SP2201F~01-063D R1/8 151 315 242 7.0 82 164 11 180
SPOIF-02-06SD 6 125 R1/4 184 370 262 90 110 164 15 330
SP3201F-03-063D R3/8 219 433 272 110 122 164 19 630
SPA201F~04-063D R1/2 265 502 308 140 165 164 24  108.0
SP2201F~01-083D R1/86 162 315 259 70 82 183 11 200
PONF--08D 45 R4 192 370 279 90 110 183 15 340
SP3201F~03-083D : R38 219 433 289 110 122 183 19 640
SPA201F-04-083D R1/2 265 502 31.8 140 165 183 24  100.0
SP2201F~01-103D R1/8 177 315 279 70 82 197 11 260
SP2201F~02-103D R1/4 207 370 299 90 110 197 15 380
SPR0IF-03-1050 10 175 Rag 232 433 310 112 122 197 19  63.0
SPA201F~04-103D R1/2 265 502 334 140 165 197 24  103.0
SP2201F~02-125D R1/4 222 370 333 90 110 219 15 420
SPRIF-03-125D 12 205 R3/8 240 433 337 115 122 219 19 650
SPA201F~04-125D R1/2 280 502 361 140 165 219 24  104.0

N .
SPF < .

i) = (=

apP

M2
METRIC-BSPT(R) Unit:
L .
Lign3 (Tutg[s)ize) op MIN MAX E 2C B M1 M2 W%)ght

SP100F—04 4 10.5 26.4 28.9 44.8 3.2 14.9 5.6 15.4 13.0

SP200F—06 6 12.5 33.5 37.9 49.6 4.3 16.4 8.0 20.4 28.0

SP205F-08 8 14.8 35.5 41.5 56.4 4.4 18.7 8.5 22.0 45.0

SP300F—-10 10 17.5 40.7 48.7 61.4 4.3 20.1 10.3 28.1 84.0

SP300F—12 12 20.5 45.0 53.5 70.3 4.4 22.8 12.1 32.0 123.0

32



